Signature and Name of Invigilator

1.

2.

Moo

Time : 1¥2 hours]

(Signature)
(Name)
(Signature)
(Name)

PAPER -1

OMR SheetNo.: ..o
To be filled by the Candidate)

Roll No.

(In figures as per admission card

1|5

Test Booklet Series

D

Roll No.

(In words)

[Maximum Marks : 100

Number of Pages in this Booklet : 24 Number of Questions in this Booklet : 60
Instructions for the Candidates TrerTieiai o forg fder
1. Write your roll number in the space provided on the top of this [, T4 I8 % S FE T W S o TR ey
page. ’ e e
2. This paper consists of sixty (60) multiple-choice type of questions, 2. T T H S (60) Tgfrhedd W €, § IR 1 ; kil
out of which the candidate would be required to answer any fifty T (50) T SR ST AT B | SEHIGER FAUREIR! @ sfues 9o
(50) questions. In the event of candidate attempting more than IR T T IHAR 5N feH T JoH Tad T ol Hedichd fohal S |
fifty ilélelftionsi th(i f(ii‘st fifty questions attempted by the Candidate 3, wdiay grey g WY, ¥-GfeehT SR € & WA TR a9 fage
would be evaluated. ST Y- WIer o e Frefafad it SR
3. At the commencement of examination, the question booklet will P 1;;:; PO N = Y = % fer ’
be given to you. In the first 5 minutes, you are requested to open ) :
the booklet and compulsorily examine it as below : (i) w-gfER @Tﬁ & for gfet W Tt FET e/ dfesd
(i) To have access to the Question Booklet, tear off the paper T w WIS o | TRl g8 A1 fa WieR-die /T wiidedi= am
seal/ polythene bag on the booklet. Do not accept a booklet +1 RIESED THHR T HL|
;\élc’c?g:;nsgggﬁgcs;fé :jlthout polythene bag and do not (ii) ?%mem_gﬁ:{-ﬁ% T AT WOt Y T
(ii) Tally the number of pages and number of questions in O q® ARG T S ¥
the booklet with the information printed on the cover T/ 9 A & AT g 3 T A Wit § 7 @ vt fohedt
page. Faulty booklets due to pages/questions missing or %ﬁwﬁg&qﬁgﬁawnﬁwwaﬁawaﬁrmaﬁm
duplicate or not in serial order or any other discrepancy wﬁawﬁmgyﬂgﬁm—gﬁawﬁﬁ| Ueh feTT TUeRT U=
should be got replaced immediately by a correct booklet firre fod S| SHek w1E 7 A Ut WeA-UfideRt aTaw ot
from the invigilator within the period of 5 minutes. STERT 31T 7 B SITURT SRR T fET e |
Afterwards, neither the Question Booklet will be replaced 3 . . =t
nor any extra time will be given. (iii) 9 SIS 6 0 T~ el &1 1 T OMR A I Slehe
(i) After this verification is over, the Test Booklet Number should R OMR W% H1 FoR 36 F¥-ieant W 3iferd T 31
be entered on the OMR Sheet and the OMR Sheet Number (iv) 39 TeI-qfaet @1 §10s D T Tmghfa A fF e
. should l?e entere.d on this T'est Booklet. ‘ TXA-REHT T S, OMR T3 % HI0s & fifear 81 7R
(iv) Thg Series of this booklet is D, make sure that the Series T foet @1 o e qEd gAe HR e geA- iy
printed on OMR Sheet is same as that on this booklet. In case OMR W e & foru Frlers =1 a¢d gfaa ¥
of discrepancy in Series, the candidate should immediately & bl g
report the matter to the Invigilator for replacement of the |4- gk ge % ferg I S fased (1), (2), (3) do (4) fed ™ 2
Test Booklet/ OMR Sheet. ATTHT & T % g9 B U7 W WAL wlell HN © o4 o A=
4. Each item has four alternative responses marked (1), (2), (3) and fe@mn T ®1
ﬁ)s You have to Elarkﬁntme circle as indicated below on the correct No¥oX XO) fF (3) T8 I 21
ponse against each item. SSTEX RN
Example: ) @ @ (@ where (3)is the correct response. 5. ‘R’:ﬁ i S HIe T IRt & T fed T OMR Tk W&
5. Your responses to the items are to be indicated in the OMR Sheet sifeRd T T qﬁ;‘ N OMR 7 T fed Tla 9 < ST forelt 3=
given inside the Booklet only. If you mark your response at any M R IR fF=ifHd w3 €, d1 36 qediw &l e
place other than in the circle in the OMR Sheet, it will not be |6. 31z fea & A9 = mﬂw 72 |
evaluated. 7. %= %M (Rough Work) 38 qf&e % 1fqq 78 | %{)
6. Read instructions given inside carefully. 8. =fz 3T OMR U5 T Faq T ¥ STela 379 A1, I T0&%, B
7. Rough Work is to be done in the end of this booklet. ’ 1 o S 5 a Fﬁg - EE)T?I ¥
8. If you write your Name, Roll Number, Phone Number or put any Tl T fog . g ’
mark on any part of the OMR Sheet, except for the space allotted SIS ST ST <6 TN T, AN WIS A ST HIEA H G
for the relevant entries, which may disclose your identity, or use * §, S8 T siferd R ™ s 1 foer an wthe Tl @ ager
abusive language or employ any other unfair means, such as change @ e & ford g ifva fRd s 9 ©
Soured Hable to disquatiication. - YIRS o, s wlun s 1 o OMR it e 7 i
9. You have to return the original OMR Sheet to the invigilators at the % ¥ tr{:m[ o 1% 34 S F A o § e
end of the examination compulsorily and must not carry it with TH S | BT ST T T T q THA-fERT T OMR
you outside the Examination Hall. You are however, allowed to Tk ! GEAhe Ui 3T WY & <1 Hehdl & |
carry original question booklet and duplicate copy of OMR Sheet [10. &aet it/ ehTet ST WSS U T & TLAUTA R |
on conclusion of examination. ;
11. et oft WehTT T HITUTeh (SheTgpeted ) AT A1 Eaet Mg T Tt
10. Use only Blue/Black Ball point pen. afdad ( )
11. Use of any calculator or log table etc., is prohibited. 5 . cs
12. There are no negative marks for incorrect answers. 12. e ‘ * fﬂr{aﬁé TRTHSE 3k T . .
13. In case of any discrepancy in the English and Hindi versions, |13. e it = fEdt foreror & =ig forgmifa 21, i fUsh foreron sifem w1
English version will be taken as final. ST




PAPER -1

Note : ¢ This paper contains Sixty (60) multiple choice questions, each question carrying
two (2) marks.

* Candidate is expected to answer any Fifty (50) questions.

* In case more than Fifty (50) questions are attempted, only the first Fifty (50) questions
will be evaluated.

1. A deductive argument is invalid if :
(1) Its premises are false but its conclusion is true
(2) Its premises and conclusions are all true
(3) Its premises and conclusions are all false
(4) Its premises are true but its conclusion is false
2. Which of the following are the characteristic features of communication ?

(a) Communication involves exchange of ideas, facts and opinions.
(b) Communication involves both information and understanding.
(c) Communication is a continuous process.

(d) Communication is a circular process.

Select the correct answer from the codes given below :

(1) (b), (©) and (d) () (@), (), (© and (d)
(3)  (a) (b) and () (4)  (a), (b) and (d)
3.  Effectiveness of communication can be traced from which of the following ?

(a) Attitude surveys

(b) Performance records

(c) Students attendance

(d) Selection of communication channel

Select the correct answer from the codes given below :

(1) (), (©) and d) (2) (@) (b and (d)
(3) (@), (), (©) and (d) (4) (@), (b) and (©)
4.  The term ‘grapevine’ is also known as :
(1) Upward communication (2) Horizontal communication
(3) Downward communication (4) Informal communication

o-oo VAN I
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fder: o @ U H 916 (60) TE-fade ™ U ¥ 1 UAE W % qr (2) 3 ¥
o Sregefl 1 H/IF WY TR (50) T F SR ¥ |
o A T= (50) W Aok e & S A @ wuw U= (50) WA € S S

1. T Fomees qd orde g ¢ A
(1) 3TTF STMYR AR 3T T (T5hY 9 % |
(2) 3HF SMHR a1 IR freed weft wew )
(3) THE MR I iR frend weft s )
(4) TEF STYUR I Tcd W TR o ¥

2. freAfafad & @« geiwo $1 fagwad § 2
(a) TETU H four, 9ot o wdl 6 STeH-WeE wina ¥
(b)  EEIEOT H AT SR A S i ¥ |
(c) HHEYY T Fad Uisha T
(d) FHEE TF g TR S

T feu T %3 @ T S F =TI FIC
(1) (b), (0) 3R (d) 2) (), (b), (c) R (d)
(3) (a), (b) I (c) (4)  (a), (b) ¥R (d)

3. frAfafead & @ forad ToIwor &} guresiierar 1 Idl o ST Hehdl & ?
(a) efugla Feerm
(b) wE froareA e
(c) forenfefai =t Iufeafa
(d) FEHHU HILH & AT

Fr feu 2 A TEt S| 1 T HI
(1) (b), (c) 3R (d) (2) (), (b) ¥R (d)
(3) (a), (b), (c) 3R (d) (4)  (a), (b) ¥R ()
4. ‘Yyared’ (erEed) s feifed B 9 frg w9 8 off St S § 2
(1) W H IR AR ) &S gur
(3) = T R FAR (4) STHMTEIRE GER
o-oo [ |ENTAHREARLARA NN ;



If we want to seek new knowledge of facts about the world, we must rely on reason of the
type :

(1) Demonstrative (2) Physiological

(3) Inductive (4) Deductive

Among the following statements two are contradictory to each other. Select the correct code
that represents them :

Statements :

(a) All poets are philosophers.

(b) Some poets are philosophers.

(c) Some poets are not philosophers.

(d) No philosopher is a poet.

Codes :

(1) @and@© (2 @Mand© () @and(B)  (4) () and (d)

Question numbers 7 to 12 are based on the tabulated data given below :

A company has 20 employees with their age (in years) and salary (in thousand rupees per month)
mentioned against each of them :

Age Salary Age Salary
S.No. | .. (in thousand rupees S.No. | .. (in thousand rupees
(in years) (in years)
per month) per month)
1. 44 35 11. 33 30
2. 32 20 12. 31 35
3. 54 45 13. 30 35
4. 42 35 14. 37 40
5. 31 20 15. 44 45
6. 53 60 16. 36 35
7. 42 50 17. 34 35
8. 51 55 18. 49 50
9. 34 25 19. 43 45
10. 41 30 20. 45 50
7.  What is the average salary (in thousand per month) in the age group 40 - 50 years ?
(1) 40.5 (2) 36.5 (3) 35 (4) 425
8.  What is the fraction of employees getting salary less than the average salary of all the
employees ?
(1) 55% (2) 47% (3) 45% (4) 50%
oo | HIHVURMINAN ‘




g g0 fova o IR ° qeA1 i 13 SRR TTH A i HI9R1 &L al 779 °§ § 768 JR Hi qeh-3ied
T AT HY?

1) YRS (2) TR foe Tt

(3)  SANTHATHS (4) TR

frefafed woml § 9 8 Th-go) & folrel §1 98t fe 991 R S ¥8l S 1 gfaffad w3

c) F® Hia IEifTH TEI & |
d) @ o it wfa T8 g

1) (@) &R (o) (2) (b) &R (o) (3) (a) &R (b) 4) (a) 3R (d)

U9 WEAT 7 ¥ 12 ek A1 fgd T Toeliehd ST X 3Meiia 1
Tk HEAT | 20 HHER &1 3761 39 (Tuf §) 3R a7 (9fd 918 a5 93 §) = femn man ¥

- 3 qa - £l qaT
| (mdtd) | (uf e T ) | (aetE) | (ufrue TR wwE )

1. 44 35 11. 33 30
2. 32 20 12. 31 35
3. 54 45 13. 30 35
4. 42 35 14. 37 40
5. 31 20 15. 44 45
6. 53 60 16. 36 35
7. 42 50 17. 34 35
8. 51 55 18. 49 50
9. 34 25 19. 43 45
10. 41 30 20. 45 50

7. 40-50 961 % g THE | HA5d Ia7 (Ufd 718 TR T H) fRaT g2

8.

o-oo VA NI

(1) 40.5 2) 36.5 3) 35 (4) 425

FHEIET 1 foha1 9FT Fd FHAE & THd Iq7 § FHH AqT ol § ?
(1) 55% 2) 47% (3) 45% 4) 50%
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10.

11.
12.
13.

14.

15.
16.

17.

o-oo VAN I

What is the average age of the employees ?
(1) 47.2 years (2) 45.3 years (3) 40.3 years (4) 38.6 years

Classify the data of age of each employee in class interval of 5 years. Which class interval of
5 years has the maximum average salary ?

(1) 45 -50 years (2) 50 - 55 years (3) 35 -40 years (4) 40 - 45 years

What is the frequency (%) in the class interval of 30 - 35 years ?
(1) 30% (2) 35% (3) 20% (4) 25%

What is the fraction (%) of employees getting salary = 40,000 per month ?
(1) 35% (2) 32% (3) 45% (4) 50%

Which of the following represents one billion characters ?
(1) Gigabyte (2) Terabyte (3) Kilobyte (4) Megabyte

The University Grants Commission was established with which of the following aims ?
(a) Promotion of research and development in higher education

(b) Identifying and sustaining institutions of potential learning

(c) Capacity building of teachers

(d) Providing autonomy to each and every higher educational institution in India
Select the correct answer from the codes given below :

(1) (b), (c) and (d) (2) (a), (b) and (d)

(3) (), (b), (c) and (d) (4) (), (b) and (0

The South Asia University is situated in the city of :
(1) New Delhi (2) Kathmandu (3) Colombo (4) Dhaka

Which is an instant messenger that is used for chatting ?
(1) Microsoft Office (2) Google Talk (3) Altavista (4) MAC

Civil Service Day is celebrated in India on :

(1) 215 June @) 7t July (3) 215t April (4) 24t April

=)}
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11.
12.

13.

14.

15.
16.

17.
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FHETE i SEd 39 1 § ?
(1) 472" (2) 453 9 (3) 403 =d (4) 38.6 9

YIS HHARI i 30 & ATk 1 5 T8 o 3T o a7 § aifihd | fovd o oT=a § sifeshan
SAred o yefeia ® 2

(1) 45-50ad (2) 50 -55ad (3) 35-40 T (4) 40 - 45 94

30 - 35 T % o ST B A (%) F Q2
1) 30% 2) 35% (B) 20% (4) 25%

HHUATRAT 1 fhaa1 9FT (%) 90 918 = 40,000 odF IT6 I W@ 8 ?
(1) 35% 2) 32% 3) 45% 4) 50%

frfafed § @ - T Ra AeR’ &1 gidfaiac St & 2
(1) frmeree (2) <R (3) feeiemge (4) s

foreafaemera 3T & & feifRa & 9 ford el o foag fed foan = o ?
(a) STIHUM & A AR 3= fnan & faswma & fag

(b) HTEATRIE A ATet HEMl % UEEN T 3% 36 ®9 § 9 WA % fag
(c) Torerri =1 avar fmfon

(d) 9RA &I 3= e & & TS HEA Sl TWETA YW & & g

Freiferd e o1 TR § HE&l 3T 1 FIT HIGT :

(1) (b), (0) ¥R (d) 2 (@), (b) 3 (d)

(3) (@) (b), (c) FR (d) 4)  (a), (b) ¥R (o)

T WY T gfafde frifea # § frg e  srafiea ©2
(1) s oot (2) HBSHUS (3) I (4) <

Tt (Afn) F fau wF-w1 3 HUR Y 1§ ?
(1) dEwmMETR AfRT (2) T 2w (3) eIl (4) THTUH

yRa § fafae wfdy feag qamn s e :

(1) 2153 & (2) 7 % H (3) 21 T4a = (4) 24 T4A HI

N
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19.
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22.

23.
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Two earthquakes A and B happen to be of magnitude 5 and 6 respectively on Richter Scale.
The ratio of the energies released Ez/E, will be approximately :

1) ~32 Q) ~ 64 3) ~8 4) ~16

Which one of the following represents the binary equivalent of the decimal number 25 ?
(1) 11001 (2) 11011 (3) 10101 (4) 01101

The session of the parliament is summoned by :
(1) The Speaker of the Lok Sabha

(2) The Speaker of the Lok Sabha and the Chairman of the Rajya Sabha

(3) The President

(4) The Prime Minister

India’s contribution to total global carbon dioxide emissions is about :

(1) ~10% (2) ~15% B ~3% 4) ~6%

The Gross Enrolment Ratio (GER) in institutions of higher education in India at present (2015)
is about :

(1) 19 percent (2) 23 percent (3) 8 percent (4) 12 percent

In which of the countries per capita use of water is maximum ?
(1) China (2) India
(3) USA (4) European Union

The factors which are most important in determining the impact of anthropogenic activities
on environment are :

(1) Atmospheric conditions, population and forest cover

(2) Population, forest cover and land available per person
(3) Population, affluence per person, land available per person
(4) Population, affluence per person and the technology used for exploiting resources

In the recently launched Air Quality Index in India, which of the following pollutants is not
included ?

(1) Ozone (2)  Chlorofluorocarbons

(3) Carbon monoxide (4) Fine particulate matter

@
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19.

20.

21.

22.

23.

24.

25.

T T A R B Ry ©hd W HHW: 5 3R 6 TR F | IfSIq Hofieq 1 ST AT
(Eg/E,) foher g ?
1) ~32 2) ~ 64 3) ~8 4 ~16

frfafea § 9 SA-9 <Had 9@ 25 1 Sl gAMEedt (s sfdEde) g2
(1) 11001 (2) 11011 (3) 10101 (4) 01101

o &1 97 freifera § § foreeh g1 aTga foran s € 2

(1) <REH T T

(2) TRANT HT TR I [HHHT T T
(3) Tgmfa
(4) ggEHA

F YT e SEATFAEE Sl B AR HT AREH ATHT fohea § 2
1) ~10% 2) ~15% (3) ~3% 4) ~6%

TAAH (2015) H WRA T 3= foreqor Geensii § Wehel AR ST (GER) T 1 7 ?
(1) 9 (19) gfae@ (2) W39 (23) fow@ (3) oS (8) Wiawd  (4) 9N® (12) wfaw@

form 2w A vfa safe St ST etfereray &2
1) == (2) R4 (3) ITHET (4) TG gfeA

TR0 W AR fwanst &1 g Fuifd w0 § fFa s gaifus Teeyut ¢ 2
(1) “Hee feafqal, SEEn iR T =T
@

SHE], ISR AR Ufd Sfe fH ST

)
(3) SFHE, Yfd Safed A, gfd safe fH Sucrsud
)

(4) EE, yfd fa oAeEadn SR SHIEEl 1 Sed I & ford ITART i S At Yrenfiest

IRd H 3 &1 § IR TR T3 9y oreran geshie |, fefatad § 9 e ygus dftufed @ e
TNR?

(1) S (2) AR
(3) A AHEEES (4) Yad fafos (W) w=ed

o-oo VA NI ) riro.



26.

27.

28.

29.

30.

31.

32.

Which of the following is not an output device ?

(1) Monitor (2) Keyboard (3) Printer (4) Speaker

The total number of central universities in India in April 2015 was :
(1 27 (2) 43 (3) 08 (4) 14

Which of the following is not open source software ?
(1) Open office (2) Apache HTTP server

(3) Internet explorer (4) Fedora Linux

Encoding or scrambling data for transmission across a network is known as :

(1) Encryption (2) Decryption (3) Protection (4) Detection

Which of the following combinations represent renewable natural resources ?

(1) Fishes, fertile soil and fresh water

(2) Oil, forests and tides
(3)  Fertile soil, fresh water and natural gas
(4) Clean air, phosphates and biological diversity

A good thesis writing should involve :
(a
(b

(c) consistency in the way the thesis is written.

) reduction of punctuation and grammatical errors to a minimum.
) careful checking of references.

(d) a clear and well written abstract.

Select the correct answer from the codes given below :

(1) (), (b) and (d) (2) (b}, (c) and (d)

(3) (@), (), (©) and (d) (4) (@), (b)and (©)

Achievement tests are commonly used for the purpose of :
(1) Identifying strengths and weaknesses of learners
(2) Assessing the amount of learning after teaching
(3) Making selections for a specific job
(4)

4)  Selecting candidates for a course

o-oo A NI 1



26. frefafEd # @ wF-4 frig gfa & %2
(1) HHe (2) -9 @) fI= (4) TR

27. A 2015 § R H o w=ra favafaemes 9
1) 27 (2) 43 (3) 08 4) 14

28. frAfafed # 9 & fe® €d AR & ¢ 7
(1) 3= AffRg (2) ST TA & 3 it Wl
(3) TR THIE (4) TSN AT

29. FeTH F AR-UR AMHYE & AU STl HI Fedg HIA A1 TSHE HIAT FIT FHEA ¢ 2
(1) IS 2) famreEam (3) g (4) STITHEA

30. frefafed & @ wiF-91 S Tdiehvig Tehfdh TEmeH Johe Fidl ¢ 2
(1) wsfaar 3=k gar iR e 5@
(2) T, T IR R

(3) 3R eI, AN S IR Whfas

(4) =3 91, Wiehed 3R 39 fafasa

31. & 30 WY Y&y e § Wi €
(a) form fog ® et iR =gam sameRores argfga |
(b) T Y WSS S |
(c) INY yaY oA H Rl
d) T 3R o7=st e ¥ foran gen x|

1= fou % | H& I H =FT HIGC
(1) (a), (b) &R (d) 2)  (b), (0) 3R (d)
(3) (), (b), (c) &R (d) (4) (@), (b) ¥R (c)

32. 3Afsy qdemw g 1 § 9 forah faw yge fhe i €2
(1) 9@ aTel & 99 9 gad &l a1 989H & g
2) Taeo % qeer HEH F AE % ik % fag
(3) fret fafire rd g == &0 & fag
(4) forelt gTeTshy vq YRR & =9 o fag
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33.

34.

35.

36.

A good teacher is one who :

(1) gives printed notes to students
(2) inspires students to learn

(3) gives useful information

(4) explains concepts and principles

Techniques used by a teacher to teach include :

(a
(b

) Lecture

) Interactive lecture

(¢) Group work

(d) Self study

Select the correct answer from the codes given below :

(1) (b), (c) and (d) (2) (@) (b) and (d)
(3) (@) (b) and () 4) (@) (b), (c) and (d)

Jean Piaget gave a theory of cognitive development of humans on the basis of his :
(1)  Action Research (2) Evaluation Research

(3) Fundamental Research (4) Applied Research

Which of the following statements about teaching aids are correct ?

(a) They help in retaining concepts for longer duration.
(b)  They help students learn better.

() They make teaching learning process interesting.
(d) They enhance rote learning.

Select the correct answer from the codes given below :

(1) (b), (c) and (d) (2) (@) (b) and (d)
(3) (@) (b), (c) and (d) 4) (@) (b)and ()

o-oo A NI 1



33.

34.

35.

36.

o [

T 3T foners SR R, S

(1) foenfea =1 qfeq Hew a1 T

(2) BE ® W@ & foaw Afafa s g
(3) YA YA <1 T

(4)

Heheuaral 3T fagidl &) T S 71

forersr g0 21eAT9E & oAU S9AMT =61 S aTell dehtes | I ©
(a) SAFEAM

(b) YR foRam STTemia sare

(c) wmfew F

(d) Tt

= fou Fel ¥ T IR H =IF HINT ¢

(1) (b), (©) () 2 (@), (b) 3R (d)

3) (a) (b) ¥R (o) 4)  (a), (b), (o) 3R (d)

frefafed ° 9 fog YR WS =S 3 7 fashm@ &1 99Mcas f9gr fean ?

(1) fshamcAsh sTgEY™ (2) AR FATEYM
(3) Hifdres srgEe (4) T STHEH

Toreror wewre 9l & 9N H frefatad § 9 -9 % 98§ 2
(a) o HHTIT YRUT FHI A HHY Toh FAC W@ § HIE HA ¢ |
(b) 3 Toenferi 1 oT=81 aRE § He H Ao HAd ¢

() o foreror &R srfermm wfshen 1 ek S € |

(d) I EH HEA FT giHA A g < 2 |

= feu el | HEt ST A1 = H
(1) (b), (0) 3R (d) 2)  (a), (b) R (d)
3) (), (b), (c) &R (d) 4) (@), (b) ¥R (c)

4 4
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37. Which of the following statements regarding the meaning of research are correct ?

(a) Research refers to a series of systematic activity or activities undertaken to find out the
solution of a problem.

(b) It is a systematic, logical and an unbiased process wherein verification of hypothesis,
data analysis, interpretation and formation of principles can be done.

(c) Itis an intellectual enquiry or quest towards truth.
(d) It leads to enhancement of knowledge.

Select the correct answer from the codes given below :

(1) (a) () and (d) (2) (@) (b), (c) and (d)
() (@) (b) and () 4)  (b), (c) and (d)

38. The conclusions/findings of which type of research cannot be generalized to other
situations ?

(1) Experimental Research (2) Causal Comparative Research

(3) Historical Research (4) Descriptive Research

39. Which of the following steps are required to design a questionnaire ?
(a) Writing primary and secondary aims of the study.
(b) Review of the current literature.
(c) Prepare a draft of questionnaire.
(d) Revision of the draft.
Select the correct answer from the codes given below :
(1) (b), (c) and (d) () (), (b), (c) and (d)
(3) (a) (b) and () (4) (@) (c) and (d)

40. Which of the following is the highest level of cognitive ability ?
(1) Analysing (2) Evaluating (3) Knowing (4) Understanding

41. Which of the following factors does not impact teaching ?
(1) Socio-economic background of teachers and students
(2) Learning through experience
(3) Teacher’s knowledge

Class room activities that encourage learning
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37.

38.

39.

40.

41.

‘eTHYT ' vIeg 1 e F Heiy H frefafed § 9 #-9 Fuw g €2

(a) SATHYM 1 AT TRE THS % FHEM H1 G0 TH & (AC TE hl T8 Faeed wrRwHar
AT FAFHATI i T T 7 |

(b) I T A, e IR Fove wfran B fes aRerea o1 odew, sisel &1 favam,
fagidl =t = SR WA 6t S "t T

() IETA F U g wd T Wit 7

(d) =THY A ¥ gfg oA T

frefafed H2 @ w8t O 1 =97 FN
1) (@), () 3 (d) 2) (@), (b), (c) &R (d)
3) (a), (b) &R () (4)  (b), () 3R (d)

frefafead o 9 fod gR o Tqdu™ o g/ feesl 1 o= feufael 9 smm=itga 78 fean s
T 7 2

(1) YR ey (2) HRUMHE AT STTHHM

() Ufdefas sTgYm (4) UHTHE STEHM

TH-JeAEe FIR Fd gag frefafad 8§ 9 SiF9-9 F30 33T T w9l € 2
(a) T=IT & WUHE AR fgdas 2w o |

(b) oHA HifE T T |

(c) TS HT YIEY TR HEA|

(d) ITET KT G|

= feu 2 @ w& I H == S
(1) (b), (0) R (d) 2) (@), (b), (c) &R (d)
3) (a), (b) I (c) 4) (@), () 3R (d)

fre=ifora o @ I TrerRt TFAT BT S T R © 2
(1) fawcdwo &1 (2) HAHA AT (3) S (4) HHSA

freiferd ® & SF-91 q foreror w1 genfod T& i ?
(1) foremei &R faenferd w1 wmmfses-snfie geyfa
(2) A9 B HEA

(3) Teres =1 A

(4) e T TH wfafafiEr S e w@ defed wE
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42. “Male and female students perform equally well in a numerical aptitude test.” This statement
indicates a :

(1) directional hypothesis (2) statistical hypothesis

(3) research hypothesis (4) null hypothesis

Read the following passage carefully and answer questions 43 to 48.

Story telling is not in our genes. Neither it is an evolutionary history. It is the essence of what
makes us Human.

Human beings progress by telling stories. One event can result in a great variety of stories
being told about it. Sometimes those stories differ greatly. Which stories are picked up and repeated
and which ones are dropped and forgotten often determines how we progress. Our history,
knowledge and understanding are all the collections of the few stories that survive. This includes
the stories that we tell each other about the future. And how the future will turn out depends
partly, possibly largely, on which stories we collectively choose to believe.

Some stories are designed to spread fear and concern. This is because some story-tellers feel
that there is a need to raise some tensions. Some stories are frightening, they are like totemic
warnings : “Fail to act now and we are all doomed.” Then there are stories that indicate that all
will be fine so long as we leave everything upto a few especially able adults. Currently, this trend
is being led by those who call themselves “rational optimists”. They tend to claim that it is human
nature to compete and to succeed and also to profit at the expense of others. The rational optimists
however, do not realize how humanity has progressed overtime through amiable social networks
and how large groups work in less selfishness and in the process accommodate rich and poor, high
and low alike. This aspect in story-telling is considered by the ‘Practical Possibles’, who sit between
those who say all is fine and cheerful and be individualistic in your approach to a successful
future, and those who ordain pessimism and fear that we are doomed.

What the future holds for us is which stories we hold on to and how we act on them.
Answer the following questions :

43. Humans become less selfish when :
(1) they listen to cheerful stories (2) they work in solitude
(3) they work in large groups (4) they listen to frightening stories

44. Story telling is :
(1) in our genes (2) the essence of what makes us human

(3) an art (4) a science
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42. ‘‘Uw GEAcHE feTHar wler H 4y qe Aieen fomnel uw g9 gevE w €17 A wed e o
9 forget fia a1 €2

(1) feemeres aftshedm (2) wiEFARE IR
(3) T Ufhed (4) I IR

frAfefaa s =g &t ArauTIYdes Ufeq 31T 43 § 48 Tk & WYl o 30X ST :
HUTETEA B S H T8 8| I8 fawegee sfae ot 781 €1 9% 9% @ § S 36 AME oA ¢ |

OTe T I & JEAH W W hkar § 1 foret fasim s 1 uftoms wen & &8 fafay w4 o amA
3T B, foraeh an o &1 s § | Hefi-hoft 39wt § 9 AR S T 1 fohd Tt 1 ared 81 W@ e iR
Y T 51 @1 ¢ 990 fohd wen ol o1 foa 7o oiR e e s € 9w sgen = fruifa g ® i g
% TIfa HT | TR 3faer, I R FHe - 3 Tt 5wl % WU § S Sifod Wd &1 39H 9 et
+ff wfhe © 11 o° Afae o 9N H TH-GH &l gd § | SR Afae e 3 9% ST s1ed §ved: =i
Y 9 37 el o = R § o W e amfed w9 9 faved g 2

FB Feial =R IR foar e & o 7é wwet ¥ 1 W@ sufen % 3w 9 TE Hegd
2 fr 70 79 ¥ 0 1t TG T | FS ST FHEITAT el §, A ST <Adrer SrEf A ¢ Aot o
T 1 &1 Tt T € S 3He 9 S TH FelAal il § SN 39 91 shi 3R Fohd Hidl ¢ T T
TS 31 B ARE TH ol o foiiy €9 9 =< T&H g% o M SIS 471 | 39 7T I8 Jgd 37 ARl gRI
AT RIS ST I & S ST 3ATqeh! ' fororeh! STene!’’ hgd €| o 9% S1a i © foh faeqst HEl, THa g
SR T F FAG W AT A A WS S| AR (el SARMERT 98 ST T8l H F 9§
I AR-a % HIEAH | HHGdl 3 GH 6 W hH WG H 7 SR FY 9 GHS P g =JAan @
Y 78 KT ® q gfsmen ¥ g IR feH v = 99E ®9 9 50 GEEtd S 81 we-ar=d %
39 U8 W SATeRIGE gedreAl | g1 foa foRa S €, S 37 @ o HeF 1 ARl ST © S 98 hed © [
gd 3h-3F &, G W IR gug vfaw & fau o =raer § safaqardt aar ok 3 @ st frmmarg ik
T HT T A €, 3 I8 I § Toh §9 Fereh! G191 81 ST |

AR ufere 78 ® T g0 fFe werl 1 3T ag[ € iR 30 o9 W fd e @ = & 21
Frefeafaa goi & 3w G

43. WA wH e 2 ¥ v
(1) 3 e FerfEr g ¢ | (2) o TRl HH HW T
(3) AT T H FE FA | (4) o e R A

44, FAIEA A G FNT?
(1) TR HR (2) TUF T 91 gH S ST ©
3) TH & (4) & fomm
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45. ‘Practical Possibles” are the ones who :
(1) are self-centred (2) are cheerful and carefree

(3) follow Midway Path (4) are doom-mongers

46. Our knowledge is a collection of :
(1) afew stories that survive
2) some important stories

4 some stories that we remember

(2)
(3) all stories that we have heard during our life-time
(4)
47. Rational optimists :
(a) Look for opportunities.
(b) Are sensible and cheerful.
(c)  Are selfishly driven.
Identify the correct answer from the codes given below :
(1) (a) and (b) only (2) (b) and (c) only
(3) (), (b) and (0 (4) (@) only

48. How the future will turn out to be, depends upon the stories ?

(1) Designed to spread fear and tension

(2) Designed to make prophecy
(3)  We collectively choose to believe in
(4) Which are repeatedly narrated

49. Which of the codes given below contains only the correct statements ? Select the code :
Statements :
(a) Venn diagram represents the arguments graphically.
(b) Venn diagram can enhance our understanding.
(c) Venn diagram may be called valid or invalid.

(d) Venn diagram is clear method of notation.

Codes :
(1) (b), () and (d) (2)  (a), (¢) and (d)
(3) (a), (b) and (c) (4) (a), (b) and (d)
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45.

46.

47.

48.

49.
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‘frarces dare' 3§ =
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(4) Fo T FerE o a9 T8 F T

ICEEIREIMICIHIE
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() TnefiEa gl

ﬁﬁ"{@@ﬂ’@wfﬁm
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50.

51.

52.

53.

54.

55.

Assertion (A) : Formal communication tends to be fast and flexible.
Reason (R) : Formal communication is a systematic and orderly flow of information.
(1) (A) is correct but, (R) is false
) (A) is false but, (R) is correct
(3) Both (A) and (R) are correct and (R) is correct explanation of (A)
) Both (A) and (R) are correct, but (R) is not correct explanation of (A)

When the purpose of a definition is to explain the use or to eliminate ambiguity the definition
is called :

(1) Lexical (2) Persuasive (3) Stipulative (4) Theoretical

Inductive reasoning is grounded on :
(1)  Uniformity of nature (2) Harmony of nature

(3) Integrity of nature (4)  Unity of nature

One day Prakash left home and walked 10 km towards south, turned right and walked
5 km, turned right and walked 10 km and turned left and walked 10 km. How many km will
he have to walk to reach his home straight ?

1) 15 2) 30 3) 10 4) 20

The next term in the series is :
2,5,9,19, 37, ?
(1) 78 (2) 80 3) 73 4) 75

In an examination 10,000 students appeared. The result revealed the number of students
who have :

passed in all five subjects = 5583
passed in three subjects only = 1400
passed in two subjects only = 1200
passed in one subject only = 735
failed in English only = 75
failed in Physics only = 145
failed in Chemistry only = 140
failed in Mathematics only = 200
failed in Bio-science only = 157

The number of students passed in at least four subjects is :
7300 (2) 7900 (3) 6300 (4) 6900

1) )
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50.

51.

52.

53.

54.

55.

AfmIT (A) Srqefier Teo @fia R a=ien e =ifew |

e (R) : AT HT ST T T Ao 3R aferd yamE g |
1) (A) @ T, T (R) 9 |

2) (A) 3EA T, T (R) T T

(3) <THI (A) 3R (R) T ¥ 3R (R), (A) F1 HE TI=H |

(4) T (A) 3R (R) T T, TG (R), (A) FT el TR I 2 |

9 IRTST 1 35 STAN 1 TIR FHIAT A1 STEIRAT AT G G HET Bl § af CH IR
FEA! € ¢

(1) nfegeh 2) IIAIHR (3)  STIHTCHS (4) Hgt<w
SNTHATCHeR ok T=Tifohd | & fore X arenfiq ® 2

(1) 9fd & FHEIA (2) Uhfd T FHIH

(3) UPfd = sr@vEdl (4) WePTd I Thal

T oA WIS SR aferor 6 10 for . = €, o e & iR 5 fo . weran 8, e e
7 TR 10 .71, 5reran § oI o¢ gt 10 f6. 7. 5aran &1 €S o799 3R 8= & forw 58 fram fR A
EREREP

1) 15 2) 30 (3) 10 4) 20
9 STl I ST T F1 SR 2

2,5,9,19, 37, ?

1) 78 2) 80 (3) 73 (4) 75

T e § 10,000 foemeff 98| wien wa =ifyd 2 W faenfefai = g=mn g yer ® :
[ gl foroii | gt 81 ATl i g 5583

T fawi 5 I%at B aTell i & = 1400
T fawi | 9% g a1al i G = 1200
Teh faua § T%at B9 oIl i & = 735
Fae ST fooa # % B el i G = 75

Faa Jifas fawa & T%a B Tl &1 G&m = 145
Fadl I foma § STwet 89 el sl |e& = 140
hadt T fawa o STHRa B aTell i & = 200
e Sia foq™ fawa § sTa%wa g aral &t 9& = 157

0 9 H1 IR faual § gwa g are fanfeai w1 e g
(1) 7300 2) 7900 (3) 6300 4) 6900
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56.

57.

58.

59.

60.

Which of the following is not a principle of effective communication ?
(I) One-way transfer of information (2) Strategic use of grapevine

(3) Persuasive and convincing dialogue  (4) Participation of the audience

A girl introduced a boy as the son of the daughter of the father of her uncle. The boy is
related to the girl as :

(1) Nephew (2) Son (3) Brother (4) Uncle

In certain code MATHURA is coded as JXQEROX. The code of HOTELS will be :
(1) LEBIQP (2) ELIPQB (3) LEQIBP (4) ELQBIP

In communication, the language is :
(1) The symbolic code (2)  The non-verbal code

(3)  The verbal code (4) Intrapersonal

At present a person is 4 times older than his son and is 3 years older than his wife. After

3 years the age of the son will be 15 years. The age of the person’s wife after 5 years will
be :

1) 45 2) 50 3) 42 (4) 48
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56.

57.

58.

59.

60.

frefafea § @ w9 gt geiww w1 fagr @ €2
(1) = T THATRN ST (2) UTETET T WHITAR ST
(3) TIEN SR fovaEaRes il (4) S i qEieR

T ASH! A T ASh 1 U= fon o o 3uF iwal & fuan &t 2t &1 ASHT 8, dl ATSH! Fl ASH
9 fedn gan ?

(1) wdtsT (2) & (3) 9§ (4) FHd

fordt ®e § MATHURA =1 JXQEROX f&fya star 8, HOTELS feraer g fesfug g &2

(1) LEBIQP (2) ELIPQB (3) LEQIBP (4) ELQBIP
paras b = S I

(1) YdiehIcHs %e (2) R =ifaw Fe

(3) dfae FHe O RERIESED

A B T Afad T 9 F 9R A1 T2l § 3R ST Ut ¥ 3 Wiel 991 €, 3 Wied o 9 SHb 9
3 15 W1 ©1 ST | 39 Al T Il bl T 5 A1t a1 Tewat gt ?

(1) 45 2) 50 3) 42 (4) 48
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